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(a) An example network. (b)  The augmented route tree for OOC control.

(c) The augmented route tree for SOC control. (d) The augmented route tree for crankback control.
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Sequential rules
(a) Average Call Set-up Delay from Hartford to San Francisco
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Sequential rules
(b) Network Blocking Probability
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Parallel Rules
(c) Average Call Set-up Delay from Hartford to San Francisco
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Parallel Rules
(d) Network Blocking Probability
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Mean processing time = 3 ms
(a) Average Network Call Setup Delay
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(b) Blocking Probability
Exogenous Arrival Rate
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B(x)=(x/C)2
Mean processing time = 1 ms

(a) Call Set-up Delay
Accepted Call Throughput

10

15

20

25

30

35

40

45

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1 1.1

SOCPar

OOCPar

CRKSeq

SOCSeq

OOCSeq

Ca
ll 

Se
t-u

p 
D

el
ay

B(x)=(x/C)2
Mean processing time = 3 ms

(b) Call Set-up Delay
Accepted Call Throughput
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Mean processing time = 3 ms

(c) Call Set-up Delay
Accepted Call Throughput
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(d) Call Set-up Delay
Accepted Call Throughput
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Single Class of Traffic
(a) C=100, !=20, µ=1, b=5

Link Occupancy
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Single Class of Traffic
(b) C=300, !=60, µ=1, b=5
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b1=1, b2=5
C=100, !1=50, !2=10

(a) Class 1
State (busy circuits)
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(b) Class 2
State (busy circuits)
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(c) Class 1
State (busy circuits)
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(d) Class 2
State (busy circuits)
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Link capacity: 1.544 Mbps
QOS of Class 2 = Q(0.032,10#6)

(a) QOS of Class 1 = Q(0.016,5 ×10#7)
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(c) QOS of Class 1 = Q(0.016,5 ×10#7)
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Bandwidth: 1.544 Mbps
QOS of Class 2 = Q(0.032,10#6)

QOS of Class 1 = Q(0.016,5 ×10#7)
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(a)
Network blocking probability
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(b)
blocking probability
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(c)
Call admission cost
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(d)
Resource management cost
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